
1 The overarrow in
←−
C creates error messages in section headers.

But after pressing the enter key several times the desired output is achieved. �
No problems with equations:

C−→
C
−A−→

C
= F b ∪

−→
C ∩

←−
C (1)

2 The overarrow in C−→
C

creates error messages in section
headers.

But after pressing the enter key several times the desired output is achieved. �

3 A picture

Figure 1: The overarrow in C−→
C

creates error messages in captions.

But after pressing the enter key several times the desired output is achieved. �

4 The multitude of keypressings jangles ones nerves!
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